During system operation where only one coordinated phase is used, put a call on the uncoordinated hwy phase from the time it turns green until local 0.

When lead-lag phasing is used for a coordination plan, it is often desirable to program only the leading highway phase as a coordinated phase.  When this is done it is necessary to insure that the uncoordinated hwy phase has a call so that the leading left turn cannot come up before it should.  In the past, coordinated max recall has been used to accomplish this.  This assured that the uncoordinated hwy phase would stay green until its force-off.  This command box replaces the use of the coordinated recall.  Its’ advantage is that it recalls the uncoordinated phase only until local 0.  At that point, the loops in the uncoordinated hwy phase and the lagging left turn can determine if these phases need to operate up to their force-off.  If they do not, the side street can start early and stay green a little longer.

This first example puts a call on ph 6 (the uncoordinated hwy phase) from the time ph 2 turns green until local 0, and the signal is operating any coordination plan (is not in plan 20).  This would work in the case that same lead-lag phases are used for all plans.  The command uses the fact that the coordinated phase (ph 2 in this case) remains in phase condition 5 (min green) until local 0.

Line
Address
Command
Description






1
D980
206
Turn on 

2
D981
63
Ph 6 input J3L* (C1-77)**

3
D982
24
If not

4
D983
25
In coordination plan

5
D984
20
20 (Free)

6
D985
20
and

7
D986
21
The phase condition

8
D987
2
of ph 2

9
D988
5
Is 5 (min green)






This example has lead phases 2,3,5,7 and coordinated phase 2 for all plans that are lead-lag.  Note that if this command were in effect for a plan with lead-lead phasing and both phases 2 and 6 as coordinated phases, it would not cause any problems.

Note that ph 6 in these examples must have a large max green to avoid maxing out

Line
Address
Command
Description






1
D980
206
Turn on 

2
D981
63
Ph 6 input J3L (C1-77)** if

3
D982
25
In coordination plan

4
D983
4
4

5
D984
20
and

6
D985
21
The phase condition

7
D986
2
of ph 2

8
D987
5
Is 5 (min green)






The second example is a slight variation.  It puts a call on ph 6 from the time ph 2 turns green until local 0 and the signal is operating coordination plan 4.  This would work when the lead-lag phasing changes for different plans.

This example has lead phases 2,3,5,7 and coordinated phase 2 for plan 4.  Some other plan has lead phases 1,3,6,7 and 

coordinated phase 6.
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*   The slot numbers shown are for a 332 cabinet

**  If a bicycle loop was connected to this slot and had a large carryover, it may be advisable to use 

    J3U (C1-64)

